RS L xR
Z5FL PE;

111 BEZRS - B 2T HRY - X2 =g
/.’“-:Té é\qi)}ﬁl: A ‘ﬁiz\g 7

— N FELIErREe B2 o RI8H

Y1) T 125x7 1 #lamke B« X-3te

RN KT SN LSRR X TN

( otk 2 40 £L6 4
Fimpr > Tr@s e — B Iz PRI E L B E AR -
Y TR AT rmaag: B EAR B BBl
®5><7 @2x7  @1xT @12x7 MiEaeo 182445 39
( V2 &Rt A B A 16 /A ,
&k iﬁk /"”7FE?: > 7’%%?{55 (‘;}H i‘) ~ ‘|%o‘ - ‘|%5‘ - ‘2%o§ - :2%5§ - ls}o‘ - ‘3}5‘ - la}o‘ ‘
AIWBLR EARE ? BB
5K~ ?
D16:8 @16+8 @L6x8 @ | W« WAL FRze 18
18x6 (1)1 fEsFEs 2 &2 749 e » Bo 3 {ES
¢ HRAm100] (0 4De: *s “;3 "(* ? )
&L 1492 H%\% %3 40?32 ( ) 749
TrEL 10 m T00x3= ( y x_ 3
D13 8¢ @1418¢ @15 18! 749x3= ( o )
(2)A= 6~4~2~84LARL— B wafiLs
@16 fa: $oo HoF R REL B > BRI
( )A)8873—1T526 &y K &R~ %? iR RSP0 ( ) BRI
Az o O @ ok 2 B )
D1363 @1357 @135 @ (3) 450x4 ¥b> 450><9 Pro( ) B¢ 450
CRAEALL ()
1347 o~ AoBeX-BLELET B0 3 4
#4012 5
N I N T, X IF i (1) 151741234 (2) 8000 — 3456
Fouake 2 s 0 HL16 4
(1)
4000 H 5000 [ 6000 |- -
(2)
- 5600 |- - 5400 H 5300
(3) (3) 606x7 (4) 125%8
9765 H - 9785 [ 9795 H
(4)
3122 H 3121 | a 13118




PR
VA

X &
>

\i}

Sk

NED> N

~

&

K
cHL 12 He

3078 [ ] 3087

—_

0. =sFiasEsr [] 3902
3. 2709 [ ] 2097

4. 5709 [ ] 5097

5. 1001 [ ] 1010

6. 4570 [ ] xFswmaB 2L+~

to s FrEE@LA VR SREE L Bl 4 pe o
HE12 Hs
~ 9 KK T A M R
K7 A8 % 163 AR

? T4

NS

7N 5’

(1)FT B Ho—- R Fritl o A+ T72
1000 T8 > Tesh-FKrmidhets 9

AT

= N ]
”i’;’ﬂk 7Fa/z

Fe.

(S)HPLss 21 b5 AR AR b2k S8 0L
3559 7t.b o RpLks gl Fodke ity ?

AS IR AR € 10 R Ve Vi e

FiA s 4 e EE16 4

Mz AL FL R 48y 38 FRT 4k B EEE’
BRI AR TR R e B
ReE:?

T

+<

(3 >4 gﬁ?ﬂ BrTi—fE¢ 629 Ly L
g fEL AT T 1 3R L nudbs
» - & Ty ?

u
L
V=N
X
3
~
I\’

kséfy S BS A B
;JL\kg bb}ag_\,—_
e RERE

(4) 1 s Begsf@cgo 30 uy s [ 82
HaT2 0 ot Ky ?



>
T

AN
N

.

5

id
X

AR LA
Bk

u
S
®

17\
%

AR

Rt
b

7
%

L
o

N
WAL P

%
<

ER
£

743

X
N

Rt

—~ B

st )1
B K
rr~

S v R
7,

’ m
& %

«XV.I

SR
&

e
E!

T
%

\i‘&‘i\‘;"
{

[ s
R

9
R
e

)-42°9
&

N u -
okl B

C
X

Lk
\EQ/_’

9
5

i
AR

y
u

M B e

H

[

iy

rr~

\
X

0
iy

3

.
LN

4in

.
urm

<
5

#
)

n
L

#

w
<

A

C
\

m/_,__\r““g

X

X~ o Hrode

C
x

¥

TAES
NEEN=

iR o 51

R

>
CKR

B

N
=1

ST

TXR
4

K

\‘4

u 2 4
L Y

-H

%

&l

o]
=

A

ur

R

o
.
a

R

e

%

6 188 &

L

u
5 9

7T

B¢ 99

n
\

¥

R

F

il

(2) R&

%

%"

’

u
57

TG

Ay 5

%



